
PARTITIONING a Line Segment Partner Challenge! 
Directions: For each problem, Partner A and Partner B independently solve each problem and compare your answers.

 

Partner A: ______________________________ I partnered with: ______________________________ 

 
Given the points A(-7, -8) and B (5, 1), find the 
coordinates of the point P on directed line 
segment  that partitions  in the ratio 2:1. 

 
Given the points A(0, 4) and B (9, -8), find the 
coordinates of the point P on directed line 
segment  that partitions  in the ratio 1:2. 

  

 
Given the points A(-7, 7) and B (8, -3), find the 
coordinates of the point P on directed line 
segment  that partitions  in the ratio 4:1. 

 
Given the points A(-10, -4) and B (10, 1), find the 
coordinates of the point P on directed line 
segment  that partitions  in the ratio 3:2. 

  

 
Given the points A(5, -10) and B (-2, 4), find the 
coordinates of the point P on directed line 
segment  that partitions  in the ratio 3:4. 

 
Given the points A(9, 0) and B (-7, 4), find the 
coordinates of the point P on directed line 
segment  that partitions  in the ratio 3:1. 

  



 
 

Given the points A(-9, -9) and B (6, -6), find the 
coordinates of the point P on directed line 
segment  that partitions  in the ratio 2:1. 

 
Given the points A(9, 2) and B (-3, -6), find the 
coordinates of the point P on directed line 
segment  that partitions  in the ratio 1:3. 

  

 
Given the points A(-6, -10) and B (-1, 5), find the 
coordinates of the point P on directed line 
segment  that partitions  in the ratio 2:3. 

 
Given the points A(7, 4) and B (-9, 0), find the 
coordinates of the point P on directed line 
segment  that partitions  in the ratio 3:1. 

  

 
Given the points A(3, -5) and B (8, 5), find the 
coordinates of the point P on directed line 
segment  that partitions  in the ratio 1:4. 

 
Given the points A(-8, -3) and B (7, 2), find the 
coordinates of the point P on directed line 
segment  that partitions  in the ratio 2:3. 
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